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He accepted, delivered and went — 7o on Bap

OVERVIEW

The X773 stated that the difference between 2"22 73110 (1197°0) and 2"2°7 (R9W)
will be in the case of 22p (no 970, however yes X?W) and 72 107% (where
191°0 w° but no X7W). There is a dispute between *"w and Mo whether
oM non are two separate cases (°"wO), or whether T2m 1on is one case
(MooN).

— 791 N 901 IN Y2 DIVNPH U

“"'wm explained 727 107 92p to be three cases; either ¥ap or =o» or T9:7 -
— 15)’311 INBY BY ANN YNMYY 1957V IX yan 'MHVY ANN 991 999599

The meaning of 107 is the father gave over his daughter to the agents of
the husband (they should take her to the husband’s home) or 7777 that the
agents of the father went with the agents of the husband (to escort her).

mooIn disagrees:
— 1992509 192WN HYAN IMHYY 90127 XIN ¥RYNT NYD)

And this interpretation is difficult! For it is evident from here (according
to *"w7°0) that when the father gave her over to the »yam smbw we are

concerned for 319%%9 (this is the case of 701 according to >"w") -
— >n1190Y 9N 995 ANT01 29 YN (3,nm mamm) ANNIMY NI P93

However in 7nnpniw 79w P95, there [>oNX] 21 stated that giving her over to
the Svan >m>w is for all purposes (considered as 791> 170103); including

eating 572N -
— YNMY XY 1PNONID DIVNT ¥NYUN

indicating that there is no concern for 11229 once she was 77021 to the *mbw
5va77; not like "1 maintains!

mooin offers his explanation:
— N NN NN 190 90127 ¥I9Y AN9)Y 75Y

! In both of these cases there is no concern of X7, since she is no longer at home, but there is a concern of
7191°0.

* This ruling is in regards to the 3wn there which states Y¥271 NWA2 X°7 17 Y27 MW 287 700,

> In M1 there is actually a npY?nn between 17 who maintains 7 n» PIn 9% an7on and "oX 27 who
maintains (as M2oIN cites) 7N AR 737 Anvon. It will seemingly be necessary to amend moon here to
read "OX 27 (instead of 17). However, the X*wp on "1 can be answered; our X0 is according to 2. See
w"&77 Moo (who words it differently) and *"19.
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Therefore it is proper to interpret that 7971 222 is one case; not two as >"v"

would have it -
— 0NNY XIN O) 797 HYaN HMBYY ANN 901 IV Y51

And this is the explanation of 72 0n; if the father gave her over to the

byan sm>w and the father also accompanied them -
— %13 XNNY 19 1Y 19973 XY INT 1910905 )PWN a9

And therefore since the father accompanied his daughter we are concerned
for a 1m0 for under these circumstances the husband does not check her

until she comes to his house -
:990 1Y PTA INT DNNY 190 XYW 599 ONHNT N9P0N YaN

However the 719%0% which 27 discusses there in m21n> is discussing a case
where the father did not accompany them, in such a situation the husband

checks her immediately when the 793 came into his possession. Therefore [*0X] 27
rules that 3% 7in7°0n even for mmN.

SUMMARY

"w9 maintains that by va7 "m>wH 287 701 she does not eat DWwn 721N
7197°0, while Md01N maintains that she eats 72170, The 11972°0 wwn by 2R 107
%27 MW is only if the a8 accompanies them.

THINKING IT OVER

According to npoIn that we are 719n°07 wWwn because the father is
accompanying hid daughter; if so let us also be concerned for X?1¥ that she
may give him to drink 7m1n?°

* Others amend this to p72.
> The husband does not feel that comfortable with her yet to be p7a since her father is still there.
% See n"nx footnote # 132.
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